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— 17PRD 7572 792 KON ONR
What difference is there between Brocho and Shokdu

OVERVIEW

The & m3x offered two reasons why an 712%X is '72 nRw1 and 12 nN%¥21; one because
on 1 there was a 07X? 11972, and also because the °no1 were 177w that when an
m1o8 weds, her husband should rejoice with her for three days. The X3 asks, is
there a difference whether the reason is because of 71572 or because of 17P¥. The
X713 answers this question. Moo explains why the X3 did not give another
difference.

mMooIN anticipates a difficulty:
= 1N39992Y 999919 XY 1593 DIVNT 23 by 9N

And even though that on account of ;71292 alone he will not be considered a

‘transgressor’ if she is not married "2 n%van 'n3, so why did the X3 asks, ‘what is the
difference’ when there is an obvious difference —

Moo responds:
= 2115934 NRYL XD HINY ¥ BIPN Yon

Nevertheless, the X3 asks why the reason of 71572 is necessary;® the mpn of 17pw
is sufficient to explain why 12 nvan 'ma nxws1 mn%X and he will be called an X192y if he does
not comply. Seemingly the reason of 71572 does not add anything —

moo1n offers an alternate explanation of the question 121 X2°X *Xn:
= 57190 ROMTY DINT N992 IWNT NIYID P92 NIIN INM *¥a 9193 N

Or you may also say; the X723 asks what is the difference between the view

! The reason of 7972 is merely good advice to marry then (which they may choose to ignore), but it is not an
obligation, as opposed to 17pw which is an enactment which the 0°n517 imposed and must be followed.
2 This indicates (as M201n states later) that the one who maintains the reason of 71572 also maintains the reason of
17Pw; otherwise what question is there why do we need 77373, it is needed if we do not maintain 17pw.
3 See ‘Thinking it over’.
4 The second answer of '01n is that the question of 17Pw? 7572 P2 X2°X X1 is not what is the difference between the
two mapn (the 73pn of a7X% 17072 and the 71PN of 17pWw), but rather what is the difference between the two answers
which the X3 gave to the question of why an 717X is not 712 nya1 like a 72102.
5> This answer (that % X9>7v 0787 17972) as well as the second answer (of 17pw) both agree that there are two causes
why an 719K is "2 n%v21 (see previous 1"X 7"7 '0IN [that 17pw agrees with 719712] and the end of this nwoN [that 7372
agrees to 17pw]), however they argue which is the main reason. The first answer maintains that 078? 771572 is the main
reason, while the second answer maintains that 7P is the main reason. Since both maintain both reasons, the X723
could not have answered 1712 X3°R 1721y, since according to both answers he will be considered an 1°72y, for they
both agree to the reason of 17pw. Therefore the X3 offers a different answer.
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which answered that the 77592 to 27K is preferable than the 7572 to %37 -
- Y1PY DIYM 33) SNT NIYIY 129

And the view of the 1''X (the second answer) that the reason is because of Y7pw -
=915 NMNY INY 2V DY ) ONX HVI DTN 11392 NIINT SIYN

And the X713 answered that the difference between them is regarding an idle

person, or when ©''y> occurs on N2¥ 27y, etc.
= 711592 DIWN XD 1PV DIVN NNYIAT RNYLT NIwIYHT

For according to the view that the reason the Xn=2 rules "2 n%v21 is because of

7w, but not because of 71292 (the second answer) -
= YN N¥Y ON NYYI) 1Py N9YIT NIN

Here in the cases of 502 078 or w"va Pnw v"y, where there is no concern of YTpw,

she may be 'm72 nbw21 if he wants -
= RIH2T NOY ¥1IYNTI N592 DIVN RNIAT NIYOT NP NIwvh ban

However according to the first view that the reason of the xn>»2 (why the
79K is M2 nya) is because of 07XY ;71992, as the simple reading of the Nnv12

indicates, then -
- 5PV DIVN NIDT NIV 39¥2 NPNY HNY 210 012 IX YV DTN 1PN

Even by an 2 27X or if ©''Y° occurs on @''7y where there is no »7pw -
- YYYAa Yyan N9 0IVN 01PN Yan

Nevertheless she should be "2 nby21 because of the 07x% ;1992.

n90IN concludes:
=1PY OIVN NPpHY IND IN NIV INNY 199N

And even according to this latter view that the Xn»927 Xnayv is because of 17373;
nevertheless were it not that they instituted on account of Y7pw that 12 noya1 -
:NHAYA 1NN NV 22) 29oub NYYWIH979 DY DIPAP 1N KDY AIND N593 DIVYN

® The necessity for Mmoo to explain the answer of the X»3 is more apparent if we assume the second answer of
mooIn. According to the first answer that the question was why do we need the reason of 77572, the answer is self-
understood that it is necessary for 121 202 07X since there is no 17pw. However according to the second explanation of
moon that both answers agree that we need both reasons (of 77972 and 17w [see footnote # 5]) it is not so clearly
understood what the X3 means that %12 X2 502 07X, since both agree to the ¥720 of 1973, therefore it is
necessary for N1901n to explain the answer.
" Even though that according to the answer of 1Tpw they also agree that there is the reason of 7372 (see footnote # 5),
however the purpose of o> 71972 was just to explain why the 737X should not be 12 nova1 like the 717102 (and we
should not enact 1Tpw [see previous 1"X 71"7 '01n]), but not that 7572 is the main reason why "2 novy21. Therefore if
there is no reason of 17pw, she may be 'ma n7va1.
8 He will not go to work on Friday either because he is an 902 07X or because it is 0",
9 (Xw3am 71"7) X,2 9°v7. The reason is that 7372 is merely an 721 7%y and we cannot base a 1"pn on an 721w 73V alone.
See also nwR 71"7 '010 R,
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The o°no1 would not have established a day when an 71298 should be n%y21, on
account of ;71292 alone, as I explained previously regarding the X3 which
asked, ‘and let her marry on Sunday’.

SUMMARY

The question of X2°X *Xn is either why do we need the reason of 71372, or what is the
difference between the two answers of the X772 (since both maintain both reasons
of 7572 and 17pw). The 0°221 would never enact a 77370 on the basis of 77272 alone.

THINKING IT OVER

noon explained (in the first answer) that the question of the X 3 what is the
difference, etc., means why is the reason of 7572 necessary.!” However mooin said
previously!! that even if we maintain 1772 we need to the reason of 77572 to explain
why she should not be 12 nova1 like a 79102, so how can '01n here say that the
question is why do we need the reason of 70727?!!?

10 See footnote # 3.
s .
12 See 5"win.
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